
ASSEMBLY MANUAL

NPWS RSFLIGHT AL FOIL ASSEMBLY MANUAL Size: 210mmH x 297mmW

www.neilpryde.com



Tools:

Parts:

Exploded:

Tail Wing Adjustment:
#5 Allen key

Shaft 
x 1pc

#3 Allen key

1

M5x16 
Screw 
x 2pcs

6 M8x17 
Screw 
x 2pcs

7 M8x25 
Screw 
x 3pcs

8 M8x60 
Screw 
x 3pcs

9 Opional 
M8 washer 
x 1pc

Neutral

Down Tilted:
More lift and stability 
at lower speed.

Up Tilted:
Lower lift and less drag 
at higher speeds.

10

Fuselage 
x 1pc

2 Front wing 
x 1pc

3 Tail wing 
x 1pc

4 Vertical fin 
x 1pc

5

1

6

7

8
9

2
3

4

5

10

10


